
SOLUTIONS
Puzzle 1
Gorgon Glasses 
The rectangular sunglasses are the 
ones for Medusa as they fit all her 
requirements. They cost seven pounds. 
The first number is: 7
 

Puzzle 2
A Wee Crossword
The letters in the shaded squares spell 
out the number: THREE.
The second number is: 3

Puzzle 3
Cyclop Strop
Colin bounced for: 10 minutes then 15 
minutes plus a final 4 minutes so a total 
bouncing time of 29 minutes.

Cyril bounced for: 12 minutes plus 
another 8 minutes so a total bouncing 
time of 20 minutes.

Therefore, Colin’s the bouncy castle 
hogger, bouncing for nine minutes 
more than Cyril!
The third number is: 9

Puzzle 4
Give it a Whirl
The letters spell out ‘ighteen’; the missing 
already munched letter has to be an ‘e’, 
which makes the word: eighteen. 
The fourth number is: 18

Puzzle 5
Monster Mash
The answer to the riddle is SNAKE, which has 
five letters.
The fifth number is: 5
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